

Feb 19-8:47 AM

June 18, 2024

$$\lim_{\substack{\chi \to 0}} \frac{e^{2\chi} - 1}{\sin \chi} = \frac{e^{0} - 1}{\sin 0} = \frac{1 - 1}{0} = \frac{0}{0} \quad \text{I.F.}$$

$$\lim_{\substack{\chi \to 0}} \frac{2e^{2\chi}}{\cos \chi} = \frac{2e^{0}}{\cos 0} = \frac{2}{1} = \frac{2}{2}$$

$$\lim_{\substack{\chi \to 0}} \frac{\tanh \chi}{\tan \chi} = \frac{\tanh 0}{\tan 0} = \frac{e^{0} - e^{0}}{0} \quad \frac{\tanh \chi}{\cos \chi} = \frac{e^{\chi} - e^{\chi}}{e^{\chi} + e^{\chi}}$$

$$\lim_{\substack{\chi \to 0}} \frac{\tanh \chi}{\tan \chi} = \frac{\tanh 0}{\tan 0} = \frac{e^{0} - e^{0}}{0} \quad \frac{1 - 1}{0} = \frac{2}{0} = \frac{0}{0}$$

$$\lim_{\substack{\chi \to 0}} \frac{\tanh \chi}{\tan \chi} = \lim_{\substack{\chi \to 0}} \frac{\operatorname{Sech}^{2} \chi}{\operatorname{Sec}^{2} \chi} = \frac{\operatorname{Sech}^{2} 0}{\operatorname{Sec}^{2} 0} = \frac{1}{1} = \frac{1}{1}$$

$$\operatorname{Sech} \chi = \frac{1}{\cosh \chi} = \frac{1}{e^{\chi} + e^{\chi}} \quad \operatorname{Sech} 0 = \frac{1}{e^{0} + e^{0}} = \frac{1}{2}$$

$$\lim_{x \to \infty} \frac{(\ln x)^2}{x} = \frac{\infty^2}{\infty} = \frac{\infty}{\infty} \quad \text{I.F.}$$

$$\lim_{x \to \infty} \frac{2 \cdot \ln x \cdot \frac{1}{x}}{1} = \lim_{x \to \infty} \frac{2\ln x}{x} = \frac{\infty}{\infty} \quad \text{I.F.}$$

$$= 2 \lim_{x \to \infty} \frac{1}{x} = 2 \lim_{x \to \infty} \frac{1}{x} = 2 \lim_{x \to \infty} \frac{1}{x} = 2 \cdot 0 = [0]$$

2

$$\lim_{x \to \infty} \chi \sin \frac{\pi}{x} = \infty \cdot 0 \qquad \chi \to \infty \qquad \frac{\pi}{x} \neq 0$$

$$\lim_{x \to \infty} \chi \sin \frac{\pi}{x} = \lim_{x \to \infty} \frac{\sin \frac{\pi}{x}}{\frac{1}{x}} = \frac{0}{0} \qquad \text{I.F.}$$

$$\lim_{x \to \infty} \chi \sin \frac{\pi}{x} = \lim_{x \to \infty} \frac{\sin \frac{\pi}{x}}{\frac{1}{x}} = \frac{0}{0} \qquad \text{I.F.}$$

$$\lim_{x \to \infty} \frac{\cos \frac{\pi}{x}}{\frac{1}{x}} \cdot \frac{\pi}{x} = \lim_{x \to \infty} \frac{\cos \frac{\pi}{x}}{\frac{\pi}{x} \to 0}$$

$$= \pi \cdot \lim_{x \to \infty} \cos \frac{\pi}{x} = \pi \cdot 1 = \pi$$

$$\lim_{x \to \infty} x \tan \frac{1}{x} = \infty \cdot 0$$

$$= \lim_{x \to \infty} \frac{\tan \frac{1}{x}}{\frac{1}{x}} = \frac{0}{0} \text{ I.F.}$$

$$= \lim_{x \to \infty} \frac{\sec^2 \frac{1}{x} \cdot \frac{1}{x^2}}{\frac{-1}{x^2}} = \lim_{x \to \infty} See_{\chi}^{2} = 1$$

$$\lim_{\substack{x \to 1}} \left( \frac{x}{x-1} - \frac{1}{\ln x} \right) = 0 - 0 \quad \text{I.F.}$$

$$=\lim_{\substack{x \to 1}} \left[ \frac{2\ln x - x+1}{(x-1)\ln x} \right] = 0 \quad \text{I.F.}$$

$$=\lim_{\substack{x \to 1}} \frac{1 \cdot \ln x + x \cdot \frac{1}{x} - 1}{1 \cdot \ln x + (x-1) \cdot \frac{1}{x}} = \lim_{\substack{x \to 1}} \frac{\ln x}{\ln x + \frac{x-1}{x}} = 0$$

$$=\lim_{\substack{x \to 1}} \frac{\frac{1}{x}}{\frac{1}{x} + \frac{1}{x^2}} = \lim_{\substack{x \to 1}} \frac{d_x \left[ \frac{x-1}{x} \right]}{d_x \left[ \frac{x}{x} - \frac{1}{x} \right]}$$

$$= \frac{1}{\frac{1}{x}} = \frac{1}{x^2} = \frac{1}{2} = \frac{1}{x^2}$$

$$\lim_{x \to 0^{+}} (4x + 1)^{Cotx} = 1^{\infty} I \cdot F, \qquad \lambda \to 0^{+}, 4x + 1 \to 1$$

$$\lim_{x \to 0^{+}} (4x + 1)^{Cotx} = (4x + 1)^{Cotx} \qquad Cotot \to \infty$$

$$\lim_{x \to 0^{+}} (4x + 1)^{T} = (4x + 1)^{T} = 1$$

$$\lim_{x \to 0^{+}} (4x + 1)^{T} = 1$$

$$\lim_{x \to 0^{+}} (4x + 1)^{T} = 1$$

$$\lim_{x \to 0^{+}} (4x + 1)^{T} = 0$$

$$\lim_{x \to 0^{+}} \frac{1}{\tan x} = 0$$

$$\lim_{x \to 0^{+}} \frac{4}{5ec^{2}x} = \frac{1}{1} = 1$$

$$\lim_{\substack{x \to a^{+} \\ x \to a^{+} \\ x \to a^{+} \\ \hline n (e^{x} - e^{x}) = 0} = 0 \\ x \to a^{+} \\ x \to a^{+} \\ x \to a^{+} \\ \hline n (e^{x} - e^{x}) = 0 \\ \hline n (e^{x} - e^{x}) \to -0 \\ \hline n (e^{x} - e^{x}) = 0 \\ \hline n (e^{x} - e^{x}) \to -0 \\ \hline n (e^{x} - e^{x}) = -0 \\ \hline n (e^{x} - e^{x}) =$$